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MODEL ANSWERS

BT90F : 25. 03. 2019 | zodes zoss, : 81-U

Date: 25.03.2019 ] cope No.: 81-U

DR : NedS
Subject : MATHEMATICS
(SRR ®g3=0 / New Syllabus )

(o0 @yl 2@5 / Regular Fresh )

(RoNF t=o8T / Urdu Version )

[ 0% eosniss : 80

[ Max. Marks : 80

Qn. | Ans. Marks
Value Points
Nos. | Key allotted
L 1 _Kngﬁ/ywr?+ a, =24 - 3nUbn Keld ot
15 (B) 18 (A)
2 (D) 0 (C)
Ans. :
(A) 18 1

RF (A) - 1012 [ Turn over




Qn. | Ans. Marks
Nos. | Key Value Points allotted
5. .?_xéfﬂﬁé_u’ugé/gw; 4x+6y-18=0 . 2x+3y-9=0 =his
i
LB ookl (B) A
MM&M (D) LS5 ()
Ans. :
(D) b)égﬁ; 1
5. b i b S
Z6 (B A
Hid (D) Jv o (©
Ans.
(B) SV#i 1
A S L6 e ULKID, 49n 60 ]
Jl61 9t (B) Ukl 7n (A)
U6l 49t (D) Uikl 14n ()
Ans. :
(C) | VK€ 14 1
5. o2 t’mtg?lél/,éwwq_. 30 « M K:wé;i (Consecutive) #1543
x(x-2) =30 (B) x(x+2) =30 (A
x(x+1) =30 (D) x(x-1) =30 (C)
Ans. :
D) | x(x+1) =30 1

RF (A) - 1012




CCE RF 3 81-U
Qn. | Ans. Value Points Marks
Nos. | Key allotted
6. ‘Lt')fdﬂ/‘ HCF (a, b)x LCM (a, b) ?uml,wlg.::.«,iu bl a );f
a-b (B) a+b (A)
a+b (D) axb (C
Ans. :
(C) | axb 1
- ~edned § cos 48° - sin 42°
0 (A
5 B
> ©
1 (D)
Ans. :
A | o 1
3 g.t‘xP(E)?nP(Apo-osﬂ
059 (A)
0-95 (B)
1 (Q)
1.05 (D)
Ans. :
(B) | 095 1

RF (A) - 1012 [ Turn over




Qn. . Marks
Value Point
Nos. alue Toints allotted

II. 6x1=6 Zf

_ﬁ’J Full marks dw:;u,wéDirect »:JUJ?L Q.14 Q.9 :&¥)

o _.‘4_Céd’{[jﬁ,:gu?bL»_‘a.t‘//;@fc_}ﬁéabbﬁfdbﬁ:df;ﬂ!
2
.
é 6. 3) =
25 <Ql4, 2)
: m‘.!.l
A(0, 0
s e~ o T i
Sk i e 0

Ans. :
JE L SLor !

10. (%)JLJJ&LJ}QL/LJJW&JLQQE’ (Comparison) <JI#§ 17=6x2 + 5

—e bl
Ans. :
5 1
. sl px)= 2-3304
Ans.
x? -3

(x-/3) (x+4/3)

x = +‘/§ x = —‘/3 Yo+ %2
_E () Ay e 1

RF (A) - 1012




CCE RF 81-U
1:12:3.. Value Points al::::‘:d
12. ?{_g,;wf P(x)= 2x2—ﬁ+56?/fj
Ans. :
3 1
13. _éf:h"_‘u’:tf (Discriminant) /:-IL 2x% —4x +3 = 0 =l
Ans. :
b2 - 4ac 72
= (—4)% -4x2x3
= 16-24
- _8 Yo 1
14. & (Formula) J}”;GKL)’(:L”,}'JK&A;}'J’}')LM}
Ans. :
n(ry+71ry)l 1
I1I. =10 4
15.| 2 ~Z e JFIL I b BB 20 L 2+ 7+ 12+ . LAl
Ans.
a=2 d=7-2=35 20
S = X 2a+(n-1)d] Vs
n 20
S2O=%[2X2+(20—1)X5] Ya
= 10[4+19x5]
= 10 x99 Ya
Soo = 990 Yo 5
RF (A) - 1012 [ Turn over




81-U 6 CCE RF
Qn. . Marks
Nos. Value Points allotted

6 JSZ =ke AD? = BD x CD s AD | BC J* AABC
2 AB? + AC? = (BD+CD)?
A
m
B D o)

Ans. :
A
m
B D C
U~ A ABD
AB? = AD? + BD? o () Vs
U~ A ADC
AC? = AD? + cD? ... (id) Vs
(i) + (ii)
AB? + AC? = 2AD? + BD? + cD? Yy
425) AD? = BDx CD
AB? + AC2 =2BD.CD + BD? + CD? Vs
AB? + AC% = BD? +CD? +2BD.CD
AB? + AC?% =(BD +CD)? 9

RF (A) - 1012




CCE RF 7 81-U
Qn. . Marks
Nos. Value Points allotted

17. § AE JwAC= 18 cmsIBD =7 cm <AD =5 cm /l-g_ DE || BC J< AABC
2 -
APOQ ~ASOR &= =b_c PQ || RS ASE S
P
R
o)
Q S
Ans. :
DE || BC " A ABC
AD _ AE v,
DB  EC
5 AE )
12 18 &
i><18 = AE A
12
15
AE =
AE = 7-5cm & 2
Z‘.’J/',’JJ'{L U2 éi—..@./‘—u)gﬁmdf
¢
RF (A) - 1012 [ Turn over




81-U 8 CCE RF
Qn. . Marks
Nos. Value Points allotted

P
R
F 3 F 3
O
Q S
U< A SOR 11 A POQ
|P =S PREOATEY
|Q = |R (&3l 1%
| POQ = | ROS (&2l4E> V.0.A.)
((erlzhFAA)
A POQ ~ A SOR. Yo 2
18. -é&ﬂ;@)@zvdﬁéx—m;=5;ﬂx+y==5gjﬁiuh¢4fwm%;

2

Ans. :

3 64
x+y =195
2x -3y

1
Ul

x+y =295

y=5-x

{é)y=5—xu:‘.’(ii) oo fala
2x-3(5-x) =5
2x-15+3x=5

Sx-15 =5

Sx = 5+ 15

Sx = 20

c= 20
S

x =4

.. (i)

Y2

Y2

2

RF (A) - 1012




CCE RF 9 81-U
1:12:3.. Value Points al;l:::::esd
{éix= 4 e (i) tsle
x+y =5
4+y =25
y=5-4
g1 Yo 2
&Y {0
x+y =25
x+y =395 (1) x2
2x-3y = 5 ... (ii)
2x+2y=10 ... il
2x-3y = 5 .. i 7
- +) O (iii) — (i)
Sy = 5
y = % y =1 72
(E =Sy U (1) el
x+y =25 7
x+1 =25
x=5-1
x = 4 Yo 2
:é)b/-f/" *7
X Yy 1
1 -5 1 V2
-3 -5 2 -3
x Y 1 Yo
-5-15 -10+5 -3-2
x _ vy _ L
-20 -5 -5
x _ L
-20 -5
-5x = -20
x = 220
-5
x =4 72
RF (A) - 1012 [ Turn over




Qn. . Marks
Nos. Value Points allotted

y b

-5 -5

-5y = -5

_ -°
Y= 5
y=1 Yo 2

Lo | «M NI Dsl CBA-& 14cm % e 8kl aBeD LTS
_:‘_L‘:»ez.’gu—"d;téﬁ:;.ui'u;/’bd"go/’l:/qféf:’_b.i,)w

2 = éf)"” ) 65 -

Ans. :
SIEE e
B 1o/ AP {o¥ Vs
KL - (2
= (14 )2
SKE, = 196 cm? v

RF (A) - 1012




CCE RF 11 81-U
Qn. . Marks
Nos. Value Points allotted

,-.;J K&j = l Tr 2
4
4 x %;“'Kcij = 4X%TET2 Yo
= 4 1 X % x 7
4 X..;J KCJ} = 22x7
= 154 cm?
2B - 196 - 154
é}{b}bd‘.—-b" = 42 Cm2 ]/2 2
A
.:5; Kﬁ)bdﬁ.b’ =
Ky 4K "
ny de = (dﬂ) 2
= (14)2
2K, - 196 cm? Y
~,§J ch'j = 0 X Tr 2
360°
4 x K0 - ax 2 22,y
360°
= 154 cm? 72
2B = 196 - 154
ny Kﬁ)bdﬁ.b’ = 42 cm?2. Yo 2
[ Turn over

RF (A) - 1012




81-U

12

Qn. . Marks
Nos. Value Points allotted
00 |2 =¥ 60° :AUU.L{‘JJLUL’/”.LJ:&}VC)J'JVJJJQ_//'J_/%-':GBJ:UK/’EJHJ 4 cm
Ans. :
el UsF 9 _ 1800 600 = 120° Yo
Yo
Yo
Jv — Yo 2
by | BLbi 45 (8,5) sl (4, -3) bERZZE A (Co-ordinates) Sl L
2 _‘a.t’/rf:vuf 3:1 /_}J}é’&uﬂ
Ans. :

& P(xy) S0/ 7

(x y) - my X, + myx; m Yy, +my Yy )
’ m; +m, ’ m; +m,

( ~ mx, + nx; my 5 + ny;

B (% y) = m+n m+n

RF (A) - 1012




CCE RF 13 81-U
Qn. . Marks
Nos. Value Points allotted
3x(8)+1x(4) 3x(5)+1x(-3) 1
= , 2
3+1 3+1
_ 24+4 15-3
4’ 4
(28 12
4 4
(x y) = (7, 3) /2 2
22.| 2 conPid K 3 [5 St
Ans. :
.‘c_ucgjbl:u{' 3+‘/€ J/S/ru'g/
=3+«/§=§p,qez,q¢0 e 72
- J5=-2-3
‘/g _ p-34q 1
q
q:-le’t—..f' pP-3q9 . uj'ﬂﬁfédquip " 2
q
.‘c_ucgjbl:_gl ‘/E
< Uha J5 J.'?
.‘a.JU“:’A:JJ/a“‘(__Jhd
é-}ﬁtjbt/:; 3+,5 - Yo 5
23 '-:'/:"J'ﬂ#nlg‘d‘flpg (Zeroes) u:j"’LP[x) = ax® +bx +c UG'/:"{( IY))
- 2 -3 P
2 b+ c=5a é»_“.—:[;‘
Ans. :
RF (A) - 1012 [ Turn over




Qn. . Marks
Nos. Value Points allotted
Q{/’LJ}/?/B 2o »J;/rup/’
a+pf =-3 Ya
a

- b =-3a

b = 3a . (1) Ya

af = 2

-2

a

c = 2a 1] Ya

(i) + (i) gives
b+c = 3a+2a
b+c = 5a. Yo 2

24| el g (x) = Pr2x+1f P(x) =33 +x2+2x+5

2 _ér:l”' (Remainder) 3L/ (Quotient)
Ans. :
3x — 5
x2+2x+1 ) 3x5 +x2 +2x+5 |
3x3 + 6x2 +3x 1
-) -) -)
~5x%_-x +5
~5x%-10x -5
(+) (+) (+)
9x + 10
=l = 3x-5 Yo
22/3¢ = ox+ 10 Y, 2

RF (A) - 1012




CCE RF 15 81-U
Qn. . Marks
Nos. Value Points allotted

25. 2 2 0x? _5x+3 = 0B Ik
Ans. :
,:i_ il a.x2 +bx+c =0 K;.,bl/’(j"d;
a=2 b=-5 c=3
-bz ‘/ b2 _ 4ac
x = Ya
2a
(=5)+ (-5)2 —4x2x3 y
X D) 2
5+,/25-24
x = —
5+ 41
Lo 541
4
S+1
x =
4
X = 5+1 ’ x = E 1/2
4 4
6 4
X = — X = —
4 4
x = % x =1 Yo 5
26. | JIImEET, 147 3Kt 3 < 2SS B
2 RS DTN AS
Ans. :
d’jﬁd/m/u'p} b = x
: du = 3x Y2
A=1xb ..;JKUW
147 = 3xx x Yo
147 = 3x2
RF (A) - 1012 [ Turn over




81-U 16 CCE RF
Qn. . Marks
Nos. Value Points allotted

2 - 147
3
x2 = 49
x = = ‘/ 49
x==+7 Yo
d'jﬁ?_.d/u%’/ (x) = 7cm
A (8x) = 3x7 = 21 cm Ya 2
27. 2 _ér)l”'&gd/tan 03! cos 0 P#sin® = %/ﬁ
-’cf'.:rﬁh"..‘;«g(fsin 30+cos26 ;ﬁﬁlp:dli 0 J3 tan0=1 /fl
Ans. :
Vs
AB? - AC? + BC?
132 = 122 4+ BC?
169 = 144 + BC2
BC2 = 169 - 144
BC? = 25 BC = 25
BC = 5 Yo
BC 5
P = — = — 1
COSs AC 13 2
AC 12
tan = 22 = = 1,
an BC 5 2 2
b

RF (A) - 1012




CCE RF 17 81-U
Qn. . Marks
Nos. Value Points allotted

‘/5 tan 0 = 1
tan 0 = L Yo
J3
tan 6 = tan 30°
6 = 30°
sin 30 = sin 3 x30° = sin90° = 1
cos 20 = cos 2 x 30° = cos 60° = % 1
sin 30 +cos 20 = 1 + l —1l
2 2
) 3 1
sin 30 + cos 20 = — Yo
2 2
28. 2 1+c08 9 ={cosecE}+cot8]2 lé.:r,t"
1-cos© :
Ans. :
LH.S. = 1+cos 6
1-cos©
4.5_.2?‘.%:'..,/;’4. 1+ cos®
_ (1+cos€)x(1+cose) 1,
(1-cosB) (14+cos9)
_ (1+cos© )2
12 - 0032 0
_ (1+cosH )2 1
— 2
sin“ 0
_ 1+cos 6 2
sin O
2
_ ( ‘1 N C(?S@J 1
sin® sin6
1+cos© 2 1
———— = (cosecO+coth)“ = R.H.S. Yo
1-cos 6 2
RF (A) - 1012 [ Turn over




Qn. . Marks
Nos. Value Points allotted
4:'(?&9;,,‘:/»:@';‘_@6»:!;!.5 6 & 1 / (Faces) J#IL (die) /LUJ..{'
29. ) ) ) )
2 -&Ep# (Probability) JEIKL » 10 Gl i szby (Faces) U
Ans. :
n(S) = 36 v
n(A) =1{(525) (4,6) (6,4)} =3 72
p(a) = M4 Y
n(s)
_ 3 1
36 & 2
s 15 cm B id K U Sso L (Dustbin) bl L JﬁJ(’/’c‘: bs ¥ L
301, _EE b Ik 63 em L/ SU - 8 em
Ans. :
r, = 15cm r2=8cm h = 63 cm
. 1
IZKQI;I;;((V) = gnh(rf+rg+r1r2) Yo
- 1,22 63 (152 +82 +15x8) v
3 7
= 66 (225 + 64 + 120) Va
= 66 x 409
If@w[ (V) =26994 cm3. Va 5

RF (A) - 1012




CCE RF 19 81-U

Qn. . Marks
Nos. Value Points allotted
V. 31.| 4 _’fé.:-,;b‘_u}dnxlzuEHJurVLlsé_lgg‘;.ﬁd,ql‘.ﬂ/’b

L
(u)' AB JLA’I/»H.GU}JVJJI?‘»LL/’IJLU @) /‘} RS » PQ u’:f&ﬁdj

et/ B RS AL;A)K PQ « C UWE

|AO D ek
P X 5
O
C
<R Y > B S>
Ans. :
Yo
Bz p e TP 0 (data ) - b
JtJWh I PR s PO Vs
q:-t/:.:b‘ : PQ = PR VA
J . V1225 OP sl 0O, OR Vs
P In A POQ and A POR

IPQO = |PRO %)UU?ALJVAVQI.M{JVAEEJ‘

hyp OP = hyp OP (/s
OQ = OR ( Fidle gL

RF (A) - 1012 [ Turn over




81-U

20

Marks
allotted

Qn.

Value Points

2

Nos.

A POQ = APOR (R.H.S.theorem )

PO = PR (CPCT)

4
5%

_/‘_;_/;L.,A:p}l) P ,!z‘i;_.‘c.iﬂk}u}bugg O y}df; :

- PRl PQ JVJJ{L.//IJC. p

Po=pPR St/ bt
GiZ b OR. i oP, 00 AL
Biid Gt 54| ORP 4| OOP
(s 4.1 42~ il glend Us Wt

Z ORP = 2 00P &t/ ey
OR (ﬁﬂi;/’b(ﬁ.ﬁ)

(R.H.S.)

0Q
OP

21 A OQP = A ORP

et PO = PR
!

RF (A) - 1012

Y2

Y2

V2
V2

Y2

2

2




CCE RF 21 81-U
Qn. . Marks
Nos. Value Points allotted

P X N A g
R Y B s”
S/ P 0aB = x
OAX = x
OBA =y Yo
OBY =y
PO || RS
XAB+ |YBA = 180°
2x+ 2y = 180° 1
2(x+y) = 180°
180°
+ =
x+y 5
x+y = 90°
U~ A AOB
|OAB+|OBA+|AOB = 180° 1
x+y+ | AOB = 180°
90° + | AOB = 180° (v x+y = 90°)
AOB = 180° -90°
AOB =90° Yo 3
RF (A) - 1012 [ Turn over




81-U 22
1:12:3.. Value Points al::::‘es d
32. : gﬂl” (Median) :ﬁbﬁéﬁj)lﬁ[(}“ B
Sk frequency 247
Class interval
1-4 6
4 -7 30
7 - 10 40
10 - 13 16
13 - 16 4
16 - 19 4
X f;= 100

L
: ér)l” (Mode) 5!‘.:.Jug£ﬂf’uw|(j: 3l

RF (A) - 1012

S frequency fyey
Class interval
10 - 25 2
25 - 40 3
40 - 55 7
55 - 70 6
70 - 85 6
85 - 100 6
z fI = 30




CCE RF 23 81-U
Qn. . Marks
Nos. Value Points allotted

Ans. :
Class-interval Frequency IS
1—4 6 6
4 —7 30 36
Yo
7—10 40 76
10— 13 16 92
13— 16 4 96
16 — 19 4 100
n 100
— =— =250
2 2
J-"'Lrl‘i'.-r((median class) =& =7
.‘JWHL;J{KJML(%C-JLKVW/J C.f = 36 1
),O’"Ku'if,f‘lb/} f =40
AU h =3
| 5-cf
Fe = 1+ x h Ya
f
_ 7, | 2036 } 3 1,
| 40
14
= 7 —
+ 70 } x 3
20
= 7+ 105
Lt = 8.05 Yo 3
!
xf'ulf l =140
KB fl =7
RF (A) - 1012 [ Turn over




81-U 24
13:8 Value Points al:::::‘: P
B = 18 3 fo =3
I B L 1)y fo =6
U h =15 1
fi-f
v = l+{2f11f00f2]xh Z
= 40+ {l;i;?*S}XIS Y,
= 40+ [%} x 15
= 40 + = x 15 7
= 40 + 12
v = 52 Yo 3
33. | L ¥uutdstnunl L Ligaml b foirl P 35 Ly
3 -l J'/@(Less than ogive) ‘23!
u.’irl)ffuja S
H;.sg 0
#/ < 40 3
fe a2 5
H;.44 9
ﬁ;.46 14
ﬂ;.48 28
#;-_, 50 32
ﬂ;,sz 35

RF (A) - 1012




CCE RF

25

81-U

Qn.

Nos.

Value Points

Marks
allotted

34.

Ans. :

Number of Students

38

36—

34

324

30+

28—

26—

24—

22—

20—

x-axis 1 cm = 2 units

y-axis 1 cm = 2 units

0

T | | | | | |

T T X

38 40 42 44 46 48 50 52 54

Weight in kg

x and y axis scale — Yo

Plotting points — 1%

s 1

:..L-’ﬁuf“i J:é”.:?. qj'}ul: 12 sle ij.lg KJ?;./»Z:JTUGUI:TK,@LJL}P.@

3

tc—

-"_i:rzl"‘,w@'.c“_uy 2

RF (A) - 1012

[ Turn over



81-U 26 CCE RF
Qn. . Marks
Nos. Value Points allotted

u"’u"' g JJJJ{JJUPJE[((‘EME) Line segment) d,}u):)_.(
fLt/u’KCfJ"’uf.url,JJuy%zc’J"’laKuruJ.»zmﬂg/
_zfi-/ph”dl_,l&cb?f?ﬂ 14 em dUS

Ans.

a, =T, = 4T, (a, ) Yo
a+t+6d = 4(a+d)

a+t6d = 4a+4d

6d-4d = 4a-a
2d = 3a ... (i) Ya
ajg = Tjy = 3T, (ay)+2
a+11ld = 3(a+3d)+2
a+11ld = 3a+9d+ 2
11d-9d = 3a-a+ 2
2d = 2a+2 ... (ii) Yo

1 ZE 02 E (i) el (i) il

3a = 2a+ 2
3a-2a = 2
a=2 Yo
2d = 3a
2d = 3x2
2d = 6
d=3 Y2

RF (A) - 1012




CCE RF

27

81-U

Qn.

Nos.

Value Points

Marks
allotted

sl S 2, 5, 8

2N LSNP}

¥

1y

I

a-3d, a-d, a+d, a+ 3d

(a+d+a+3d) = 3(a-3d+a-d)
2a+4d = 3 (2a-4d)

2(a+2d) = 3x2(a-2d)

a+2d = 3a-06d

2d+6d = 3a-a

2a = 8d

q = 84
2

a = 4d

a+3d = 14

4d+3d = 14

Q
[
N
Q

4 x 2

Q
1

RF (A) - 1012

Y2 3

Yo

Y2

Y2
2

Y2

[ Turn over



81-U 28
1:12:3.. Value Points al:::::{:d
AT -
= a-3d+a-d+a+d+a+3d
= 4a
= 4x8 = 32 cm. Yo 3
35.| N M tC(s, 2) s B(-1, -4)A(-3, 2)=3LUrllAABC

3 2 MN = BC -é-‘:f.L‘";uKJ:LE;(f/M: AC #IAB <7\
L
ik C(5, 2) 1 B(3, -5)<A(-5, -1) «WSLusrtl AABC

e bt eIl i b2 & nflE L i AaBCS

Ans. :
A(-3,2)
M N
B(-1, -4 C(5,2)
A X, + X Yy, +y
=L M = 1 2 1 2
{ 2 2
_ (-1-3 -4+2
2 2
B M= (-2, -1) 1
LN - [5;3, 2+2J

RF (A) - 1012




CCE RF

29

81-U

Qn.

Nos.

Value Points

Marks
allotted

Sdmn =[x,

e MmN = 32

- X1 )2+(y2_y1 )2

J(1+2)2+(2+1)2
[555 - [T6
[557 - 32

Y BC = ‘/(x2

- X )2 +(Yy — Yy )2

g

(5+1)2 +(2+4)2

62 + 62

T

w
)]

+36

¢

RF (A) - 1012

2

Y2

Yo

Y2

[ Turn over



81-U 30 CCE RF
Qn. . Marks
Nos. Value Points allotted

A (=5, -1)
D F
B(@3,-5) E C5,2)
(xl? yl):(_s,_l)’ (X >y2):(3’_5)’ (X ,y3)2(572)

45 AABC =

= S0x (yg—U3 )+ %y (U3 —yy )+ %5 (Y ~Up)]

- % [-5(-5-2)+3(2+1)+5(-1+5)]

% [-5x(-7)+3x3+5x4]

-1 [35+9+20]
2
= % x 64
SN ABC = 32 sq.units

. X, +X Y1 + Yy
= lZLD = 1 2 R
( 2 2

RF (A) - 1012

Y2

Y2




CCE RF

31

81-U

Qn.

Value Points
Nos.

Marks
allotted

(x17y1) = (_1’_3) (x > yz) = (4’ _%J (xg’yg,) = (O’

{—1x(—2)+4x%+0}
[2+ 14 ]

x 16

A DEF = 8 sq. units
486N ABC = 4 x </ A DEF

32 4 x 8

32 32

RF (A) - 1012

1
2

J

Yo

Y2

[ Turn over



Qn. . Marks
Nos. Value Points allotted
,,L"‘/‘LJ’/-LJU}/E 7cm ) 6 cm <5 cmuj'/ﬂLugUchiéu?é_bﬂugl

36. ,

3 e e

Ans. :
Al

&0 ek 1
UG T s iz
$iaL1Sb B85 1,
dﬁ:?d/ssu(w[’}djl? v
JEEA A'BC! Y 3

RF (A) - 1012




CCE RF 33 81-U
1:12:3.. Value Points al::::‘:d
V. . é J?
37.| 4 L ey PP WU s 5
2x+y==6
2x-y=2
Ans. :
2x+y =6
y = 6-2x
x 0 1 2
y 6 4 2
2x-y =2
y = 2x-2
X 0 1 2
y -2 0 2
Tables — 2
3L SbE U s )
eSSl el . 4
RF (A) - 1012 [ Turn over



81-U 34 CCE RF
Qn. . Marks
Nos. Value Points allotted

AY x-axis 1 em = 1 unit
y-axis 1 ecm = 1 unit
o 1 | 2
X 4 3 6 x
yl
38. &3?&5@3}0!-@%{5{#52% 9 ulF4 JaE;»LL[;L (Tower) ,uli’...g

4

_’épl”' (jl{':id?slf-uj (Complementary) ﬁ Clﬁblé.sljédi,‘,

RF (A) - 1012




CCE RF 35 81-U
Qn. . Marks
Nos. Value Points allotted

Ans. :
A
X 90°-x
5 4m B 9m
Yo
3¢ AB J;/(u'p/
ABC = x
ADB = 90° - x 72
In A ABC
tan x = E
BC
tan x = 28 . (i) Yo
4
In A ADB
tan (90° -x) = AB
9
cot x = % ... (i) Yo
(i) x (i)
tan x x cot x = ﬁ><E 1%
4 9
1 AB?
tan x x =
tan x 36
, _ AB®
36
AB? = 36
AB=i‘/36 AB = + 6
dgsdst AB = 6m. Ya 4
RF (A) - 1012 [ Turn over




81-U 36
Qn. . Marks
Nos. Value Points allotted

39. LG uffC)’J}‘L lf_l,:/ka.bs}.ﬁf;ﬁ L oL e e (Sheet) Uusdles

31 20 em dﬁl.'d::b:’f..u_'_? 7 cm JsfdsVﬁ.ﬂﬁusﬁﬁ’ﬁuﬁuhﬁjwlﬁ"hf_“Lf

2;_31 20 }J&c;gJw:::,géfgr}h’@jKL/Lsz:fJAgﬂ?yz 3 cm LjAJ'Jb}/

4

—-—

]

J\

20 cm

C v
Tcem

[

4&_)«’:?401‘)1134;@,;;:{5;/!"}‘2;4.«:( (Hemisphere) n’/(..zdiﬁ._w 14 cm

-;G(jﬂd;;ﬂﬁﬁ'd}}béffjéh:{l-d:_.éﬁ 7 cm égsld/f_c‘;.m/figfd/b:;

ALY

_ép‘-‘"};(

C 2=

20 cm
C v
Tem
zﬁ;iﬁ‘l — ffﬂ:f Yo
nr2h Yo

RF (A) - 1012




CCE RF 37 81-U
Qn. . Marks
Nos. Value Points allotted

= % x 7% x 20
g - 3080 cm? Y
ZK‘E’; -1 nr2h Yo
3
1 22 - 4
3
ZK‘E’; = 154 cmS Yy
Fsles Ait A
= 3080 - 154
= 2926 cm® s
= % = 2:926 litres. Yo
@/:'(2_/9{:_493»; Jxéﬂvslpié’jé:
= 2926 x 20
= 58-520
= Rs. 58520 1, 4
L
ZK'?(‘J’GJ = %nr?’ Yo
ZK‘E’; = % nrlh Yo
ﬁ;mdga?r;m-ﬂ SB:J!J};:;
r = 14 cm h = 7 cm.
ZKE;’C_&)‘J _ ffﬂ:f
2 nrd = 1 nr2h A
3
2x(14)3 = r2x7
2 _ 2x(14)°
B 7
[ Turn over

RF (A) - 1012




81-U 38 CCE RF
Qn. . Marks
Nos. Value Points allotted

_ 2x14x14x14 1
7
r2 = 196 x4
r2 = 784
r = ‘/ 784
r = 28 cm
J;K.;Jnd/{fc_,.:f,;lﬁbff = nr? Yo
- %%X(ZS)Q
= %§x28x28 Y
= 2464 cm? A 4
- . e, e w .
40.| 4 -Eebe Sl edSur L LIS AL Yle I SUBL U e
Ans. :
A P
I |
| |
| |
I |
I n
B M cC Q N
Yo
Sy e A ABC ~ A POR s
- 2
J€AABC _ BC
Stk JKAPOR  OR’ Ya
e
L Draw AM 1 BC .3/ PN1 QR Yo
ot U“A AMB s} A PON
| ABM = | PON (=)
| AMB = | PNQ =90° (=)
A AMB ~ A PON (exleeb 7AA) Vs
AM _ AB (-
PN PO
K BC _AB
OR PQ

RF (A) - 1012




CCE RF 39 81-U
Qn. . Marks
Nos. Value Points allotted

AB BC 1
45 BLY Y.
PO ~ OR 2
1
€A POR 2
<& A PO ; x OR x PN
OR PN
_ BC BC [AM _ BC
OR ~ OR’ PN  OR
_ BC?
OR?
BC?
= — A
OR 4
3 200
A P
1 1
1 1
1 1
b h
B M cC O N

= . &
A ABC ~ A PQR ' JI& &3 pOR 1 ABC =it

,.'/{._ e ey L"J'/(?

ar(ABC) ([ AB 2_ BC 2_
ar(POR) | PO | | OR B

ULt PN e AM ;utﬁ;iﬁiiL)H”@m?’}uﬁu

1

4, ar(aBc) BCxAM
ar (POR)) éQRxPN
_ BC AM .
= —— x — .. (i)
OR =~ PN
—! A ABM ! A PQON
|B=|Q (As AABC~A PQR)

RF (A) - 1012

(:

f

Y2

Y2

Y2

Y2

[ Turn over



o i Marks
Nos. Value Points otted
[M =[N (¥ 90° L)
AABM~APON (b7 AA =2 v,
L AM _ AB (i)

PN ~ PQ
A ABC ~ A PQR (e tnls)
A5 _BC 4 ... (iii) 1,
PQ QR RP

4 @ (ABC) AB AM
ar (PQR) ~ PQ = PN
(iif) 4! (i)
AB _AB
- 45 45 .
PO X PO () -+ (iii) )
_ (4B
PQ
e LY S (3)
ar(ABC) (ABY? _(BC) _(caY 5
ar (PQR) | PQ ~ | OR = | ®p .

RF (A) - 1012




